Zusatzinformationen zu den Algebra-Vorlesungen Kapitel 1

b)
jJ=—T1]->j=v-I-v-T1-V=I=-1=j-j=}?

Beispiele:

a) B=2D+U+7N=CB+D)+(=2+7)j=7+5j
by 3—=2j)=@+7)=—-1-9
) B-2))@+7))=3-44+3-7j—2j-4—2j-7j=12+21j —8j + 14 = 26 + 13/

c)
(a + bj)(a — bj) = a? + abj — abj — (bj)? = a? — b?%j? = a? — b% - (—1) = a? + b?

(a + bj)(a — bj) = a? + b?

d)
z=4—-3j=|z]| =42+ (-3)2=/25=5
z=—-5+43j=|z| =4(-5)?+32 =34

e)
2+3j (2+3)B+4) 6+8/+9/—12 —6+17j 6+17,
3—4j (B-4)B+4) 9+ 16 =35 28 254
1.3.2

|z| =va?+b%2=2-2

|z] - (cosa +j - sina)
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